BER—ERRF)

F- 709 HBEL: FHAFRYARIR x- 710 HEBE%: =o)L
Eh 22kg = 12kg

it (BRATE) 1% (1@) = it (BRATE) 1% (@) =
HA4ZX 93cm X 188m X 53cm HAZX 200cm X 190em X 80cm

F- 711 REBE4%: IN—T—13Y F- 7112 HB%&: IJYFLAAFIT
= 9kg E= 24kg
it (B1TE) 1 (13) = it (BRATE) 1 (12) 2
HA4ZX 33cm X 106cm X 119cm HAZX 112em X Tiecm X 109cm

|

hlyi
” “p:\i"lw‘ H‘I‘H"“‘ {
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N
il

il
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I
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®- 7113 RB4%A: B35t F R- 714 @mB4&: EAR 45&
4= 30kg g1 kg .
#(RTE) &R B WRTE) ) BmE
HA4X 73m X 63cm X 12icm PFAZX  5%em X 4fem X 3%m

o§_E




BER—ERRF)

x- 715 SE%A: RE—h—
g 4kg
ME(RITE) RO =T
"j"fZ 8lcm X 44cm X 105cm

belo

x- 716 SEA: Fx A+ 3%
g= 14kg

#E(BRITE) RO =T
HA4ZX 35ecm X 60cm X 77cm

I

.

®- 7117 REA: IRYE
E bkg

ft(BRATE) R =S
HA4X 102em X 143cm X 70cm

il

- 718 RB4%: IREAZ VY

2 9kg
M (BRITE) 1% (=) =

HAX 26cm X 75m X 65cm

el

x- 719 SE%A: UNERZv o
5= 11kg

#E(RITE) RO a3
"j"fZ 26cm X 75cm X 60cm

x- 720 REBE%: FEN, BF

g5 40kg atk
#E(RITE) RO a3

HA4 X 125em X 95cm X 900méﬁg




BER—ERRF)

R- 721 @&B%&: JYXBUEI—R K- 722 @mEA: JUFEIRT—X
E-§- 4kg = 3ke

it (BRATE) 1 (18) = it (RATE) & (1F) =
HA4X 43cm X 90cm X 26cm HAAX 37cm X 79cm X 26cm

R- 723 SZB%A: IR — X F- 724 ZBEA: IR —2R
BE 2kg 5= kg
i (BTE) 1 (18) as it (RITE) 1 (1) =s
HALX 7d4em X 38cm X 2lcm HA4X 4lem X 69em X 19cm

K- 725 mB4A: IS —R 3EX F- 726 SBE4%: Fvl)—4H—X
g= 3ke g= 2kg
WERTE)  #E3E) = WEERTE) 3R =

HAZX 47cm X 34cm X 64cm HA4ZX 3lcm X 22cm X 55cm




BER—ERRF)

xw- 727

E

belo

mBA:

4kg

it (B=1T7E)

Y4 X

36cm X

Frl)—r—2x

1 (1F)
23cm X

=TS

57cm

F- 728 RBE%: Fyl)—r—R
BEE kg

HE(BITE) 1% (@) =
"j"fZ 28cm X 55%cm X 79cm

xH- 729

=

il

mB%:

1kg

it (R1TE)

HAX

23cm X

SRt

1 (18)
27cm X

X

37cm

F- 730 RB4%: Skt
5= 1kg

i (BITE) 1 (18) =s
"j"fZ 23cm X 27cm X 36cm

xR- 7131

BE=E

mB%:

1kg

it (B17E)

YA

41cm X

IRy R

1 (@)
44cm X

1S

31cm

xR- 732 mEBA%A: IRERAR YD X
EE 2kg

it (BR1TE) 1 (1g) B
HAZX 56ecm X 40cm X 45cm




O __B&
BAR—E(RAEFE)
R- 733 REBE%: &S F- 734 RBE%: Zy=)
=B 13kg g8 13kg
M (EmITE) A& () B M (EmITE) () B
HA4X 45cm X 180ecm X 32cm HAX 45cm X 180ecm X  32cm
r

i

K- 735 @B4%: TOHOZ 2 K- 736 MESR: TOZ 2K
5= 5kg i Eg= 1kg 14
it (BRATE) 1 (18) =T i (BITE) 1 (1g) =5
HA4X 9ecm X 93cm X 5cm 14 HAX 75¢m X 33cm X 3cm 1

R- 737 @mB%&: HYE=&#T—T)I K- 738 @mBE%&: WYUF-F=-#T—TIL
E=E 9kg Eg= 5kg

Mk (RITE) 1 (13) = it (BR1TE) 14 (13) =)
HA4ZX 60cm X 89%em X 32cm HA4ZX 50ecm X 70cm X 32cm




BER—ERRF)

K- 739 @mB%&: HYF-F=#T—7IL K- 740 @mBA: HYF=H#T—TII
s 6kg E=E 4kg
it (BRATE) 1 (18) = it (RATE) & (1F) =
HA4X 45cm X 90cm X 33cm HA4X 60cm X 60cm X 3icm

K- 141 @mB&: HYEE=H#T—TIL R- 742 BBE%&: FyFrIdv
BEE 4kg BE 5kg

it (BRATE) 1 (1) B i (BITE) 1 (1) =5
HAX 50cm X TJdcm X 27cm HA4X 38m X 59cm X 78cm

F- 743 B4 TyFoIJay xR- 744 REBA: &=
E=E 4kg Eg= 2kg
it (BR1TE) 1 (13) = HE(RITE) 1 (1g) =

HA4X 36cm X 55cm X 72cm HALX 1lecm X 26cm X 98cm




BER—ERRF)

K- 745 FB4%: AayF K- 746 SmE%A: a—F—5v9
BEE 2kg BEE 5kg
it (BRATE) 1 (18) = it (RATE) & (1F) =
HA4X 8cm X 22cm X 96cm HA4X 39cm X 56cm X 96cm

R- 747 RmBE%: FyFrIdy R- 748 @mBE&Z: H—5—HRyHR
5= 5kg = 6kg
HE (B1TE) 1 (1) B i (BITE) 14 (13) a2
HA4X 30cm X 53cm X 73cm HAX 47em X 57cm X 82cm

F- 749 RBE%: FH R- 750 RBE%: FEH
g= 1kg g= 1kg
fE(EATE) &) B fE(ERATE) () B

HALX 62cm X 73cm X 23cm HA4X 58m X 67cm X 2lcm




BER—ERRF)

x- 751 SB%: FH K- 752 @mBE%&: FH
BEE kg = kg
it (BRATE) 1 (18) = it (RATE) & (1F) =
HA4X 56cm X 60cm X 22cm HA4X 52cm X 6lcm X 22cm

®- 753 mB%: FHE R- 754 @mE%: o3y
- 1kg 5= 4kg
it (BRATE) 1 (1) B i (BITE) 1 (1) =5
HA4X 53cm X 62cm X 19cm HAX 42m X 60cm X 5icm’

®- 755 SEBE%: I3y K- 756 mE%L: a—RA5vY
g= 12kg g= 2kg
fE(EITE) () = f(ERFE)  RE0E) ma

HA4X 30cm X 54cm X 54cm HAX 24cm X 54cm X 97cm




BER—ERRF)

K- 757 @B&: NAA—ARE—FI7 K- 758 @mBE&A: NAO—RE—Fz7
E-§- 9kg = 6ke
it (BRATE) 1% (1@) = it (RATE) & (1F) =
HA4X 65cm X 47cm X 97cm HA4X 65cm X 47cm X 86cm
- 759 SHBE%: AR K- 760 HE%: AR
Es ) bke 58 ke BaffE
it (BRATE) 1 (18) S it (RITE) 1 (1g) =5
HAX 34cm X 40cm X 16cm HAX 32cm X 34cm X 19cm
K- 761 RB%: EEtLvk K- 762 @mBA: NE—OAr—h—
5= 14kg 21k 4kg
HE (BRITE) 1 (18) = it (B1TE) 1 (1g) =
HAX 45cm X 43cm X 28cm LA HALX 68cm X 62cm X 50cm




BER—ERRF)

F- 763 SHBE%: RE—Fz7
E-§- 10kg

it (BRATE) 1 (18) aa
HA4X 67cm X 48cm X 77cm

F- 764 HB4%: H\T
E=E 26kg
it (RATE) & (1F) =
HA4X 86cm X 5lcm X 112cm

T

K- 765 B4 EBlER#EF 28

E= 10kg 18
i (BTE) 1 (18) as

HA4X 53cm X 59%cm X 74°m1ﬂ£[]

K- 766 mBE%: Bl 8545 F
5= 11kg

i (BITE) 1 (18) =s
"j"fZ 52cm X 56cm X 72cm

K- 767 mE%: [ElEL 5 F

) Tkg
fE(BITE) (IR B3

HA4X 50cm X 42cm X 88cm

felo

F- 768 SHBE%: BF
= 5kg

it (B1TE) 1 (13) =
HALX 48cm X 46cm X 68cm




BER—ERRF)

A

K- 769 mE%S: SR BlERIE T F- 7710 mB%: fEEEE
5= 6kg 5= 12kg
HE (BRITE) 1 (18) B it (BITE) 1 (12) =2

HALX 59cm X 57cm X 66cm HALX 59%cm X 40cm X 124cm

- 771 RB%: BEFE x- 772 RB%: BEHRE
E-§- 6kg E= 6ke
HE (BRATE) 1% (1) B M (BRITE) 1 (13) 2

HAX 47cm X 54cm X 13cm HAX

47cm X 54cm X 13cm

x- 773 RB%: KESR K- 774 RBE&: N—A_AFXa1—HFHEH
= = =1
EE 1kg EE 1kg 4II\\
it (BR1TE) 1 (13) B it (BR1TE) 1 (1) =S
HALX 6cm X 45cm X  3cm HA4X 33cm X 33cm X




=
BER—E(RAEFE)
x®- 775 RBE%: IR — R x- 776 SB4%: y::boE
= 1kg E=E 1kg
fiE(RITE) KT B #E(BRITE) RO =T
_U_/rx 40cm X 30cm X  18cm "j'*fx 37cm X 142cm X 2cm

®- 777 &B%: A K- 7718 MmBE%: HERY
E= 1kg Eg= 1kg

it (BRATE) 1 (1) =T i (BITE) 1 (1g) =5

HA4ZX 36cm X 147em X  2cm HA4ZX 30cm X 128cm X 2cm

- 7719 RB4%: HERYHE - 780 SBE4%: O )—FxT
g= 1kg g= 3kg
HE(ERTE) 3R B& HE(EITE)  RE3E)
'U'*(X 30cm X 128¢m X 2cm 'H'/ff

S

47cm X 58cm X 85cm




BER—ERRF)

K- 781 @mESA: BANRSARNVH— K- 782 ME%A: TLEE&
g8 kg L g= 10kg
#E(BITE) (IR =t #E(BRITE) RO =T
HA4X 12cm X 67cm X HAX 29cm X TJ4cm X  38cm
R- 783 mB% 7k ¥E K- 784 RBE%: —iRE
N 5kg E Ake R
e (R1TE) 1 (1) B it (RATE) 14 (13) a2
HA4X 28cm X 60cm X 36cm HAX 37cm X 39cm X 72cm
/
i
i
K- 785 MmB%: —iRE K- 786 MmE%&: =2
=8 3ke AR B8 kg
fE(BITE) (IR =T #E(BRITE) RO =2
73cm H4X 6cm X 28cm X 90cm

YA

42cm X 43cm X




BER—ERRF)

%_ 787 EII:II:IE% . JSJE‘:E%HEI]: 2“\\ g_ 788 EII:II:IE% . )E%E
= LS E=E 1kg
#E(RITE) K0T B& #E(RITE) RO =
s 25cm 30cm 25cm 1R s
HAX 330m 330m 9om HEE HA4ZX 17em X 147em X
K- 789 mHEA: =8 K- 790 ®E%: AE—Fz7
g5 2kg 5= 1kg
e (RATE) 1 (h3) B it (B1TE) 1 (1g) a2
HA4ZX 30cm X 105m X HAX 34cm X 34cm X 37cm
AR @j\ L
-
, N
\L\ ; A ‘
- 791 RB4%: RNE—Fz7 - 792 RBE4% —ERE
g= 1kg 5= Tkg
Mt (RITE)  RE0E) 53 #E(EITE)  HB(E) S
HA4ZX 34cm X 34cm X 35cm HA4ZX 72ecm X 46ecm X Tlcm




BER—ERRF)

- 793 RBE4%: =

g 4kg
it (BRATE) 1 (18) =5

HA4X 66cm X 40cm X 55cm

belo

- 794 RB4%: ERABLBY

g 3kg
HE(BITE) 1% (@) =S

"j"fZ 55cm X 33cm X 38cm

]

- 795 RBE4%: FERABLLY

) 2kg
#E(BRITE) B3R =

HA4X 67cm X 27cm X 40cm

il

F- 796 SB4%: ERABLEY

2 5kg
#HE(RITE) 3R =2

"j"fZ 77cm X 35%cm X 44cm

il

x- 797 HE%&: v
g= 10kg

Mt (RITE)  RE0E) =5
HA4ZX 42cm X 60cm X 45cm

F- 798 S B4%: ITOHOZE 25
g

Gl

ke a4
it (BR1TE) 1 (1g) B
HA4ZX 30cm X 60cm X 22cm

1.b~




BER—ERRF)

K- 799 RB4%:
E-§- 13kg

it (BRATE) 1 (18)
HA4X 69cm X Tdecm X

I r—A 3E2{E

=S

71cm

K- 800 MEA: UMY —R 3
5= 5kg

HE(BITE) 1% (@) =
HA4X 69cm X 40cm X 64cm

K- 801 @mBA: WM~ —R 3
BE 5kg
i (BTE) 1 (18) as
HA4X 69cm X 40cm X 64cm

K- 802 ME%A: WMy —RX 3EX
5= 7kg

it (RATE) 1 (1) =5
HAX 70cm X 37cm X Ticm

F- 803 mBA: Y —X 3K
#E(RITE) OB =
HAX 7dem X 40cm X 75cm

x- 804 MmBE&A: WM —X 3K
HE(RITE) 1 (1) =
HALX 68cm X 37cm X Tlcm




BER—ERRF)

K- 805 MmB%A: U —X 2{&E
)

belo

ke g
WRTE) R 0 B

HA4X Tdem X 40cm X 23cm11IEI

F- 806 MBL: WMy —R 2@
g

el

ke g
it (BR1TE) 1 (13) B
HA4ZX 64cm X 40cm X 23cm

®- 807 mB4A: AT —R 3E
g

il

ke g
HREE) OB 00 B

HAX 47cm X 32cm X 22cm11IEI

118
7 e
F- 808 SEBE%A: IR — X
E= 3kg

it (B1TE) 1 (13) B
HAX Tdcm X 40cm X 23cm

H- 809 SE%: IRk — R

g 4kg
#E(RITE) RO a3

HAX 74om X 40cm X 29cm

belo

F- 810 RBE4%: IR —X

£ 4kg
it (B1TE) 1 (1) =

HAX 74cm X 39cm X 29cm

belo




BER—ERRF)

x- 811 @mE%: IR — A&
= 3kg

it (BRATE) & (13) a5
"j"fZ 53cm X 39%c¢cm X 29cm

- 812

E

]

mBE4A:

2kg

ft(B=1T7E)

74cm X 39cm X 33cm

H4X

IR —X

1% (1) =S

%- 813 HEBE%: UN§hr —=x x- 814 RB4%: IR — X
g5 2kg 5= 2kg
e (RATE) 1 (1)g) B e (R1TE) 1 (1g) a2
HA4X 73cm X 40cm X 33cm HAX 73cm X 40cm X 33cm
_3,/& N ‘\'\ /f’ ‘\ L,
\ —
, 2
AT
.
%- 815 SB%A: IR —=X F- 816 SB4%: WYy —R 5E%
g= 2kg 5= 6kg
#E(EITE) (IR s #ME(RTE) 3R =&
HA4ZX 73cm X 40cm X 33cm H4A4ZX 39cm X 54cm X 98cm

T —— 7

4
i >

D

g]n‘l

b-

[




a__BE&
BAR—E(RAEFE)
- 817 HE%A: B HH - 818 SEBHA: BN HH
E=E 5kg g2 2kg
WE(RITE) R (IE) = fE(BATE) R (IR =T
HALX 48cm X 102cm X  140cm HALX 29cm X 70cm X 96cm
- 819 SE%A: B BHH F- 820 MB®Z: HYEEHFTOIRYR
= 2kg g2 17kg
fiE(mITE) RS Ba fiE(RITE)  REE) =T
HA4ZX 33cm X 184ecm X 4lcm HAZX 96cm X 207em X 45cm
- 821 HB4&: HYEATOIRYR F- 822 SB&: HYUEARYR
Eg= 23kg = 20kg
WE(RITE) R e 0t (mTE)
HAX 95cm X 203cm X 45cm

1 (1) =
HA4ZX 93cm X 208em X

32cm
{V\ " | | - b u_=
\7 i

L/




